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1. The boundaries of the Bermuda Triangle are not universally agreed upon, but one
version places one corner of the triangle on the southern US coast (Point A in the
figure), another corner in the Bermuda Islands (point B), and the third comner in the
Greater Antilles (point C). Assume that the distance between A and B is 1000 km,
and the angle at point A is 55°. Traveling at 25 km/hr, a cruise ship takes 26 hours to
cross from point A to point C. If the ship survives this portion of the trip, what is the
distance it must travel from point C to point B?
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4. Complete the following table, using exact values where posssible.

0 (radians)  sin’0 cos’0 sin26 cos28
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5. Complete the following table for m(x) = f{g(x)) and n(x) = fix) + g(x).
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x 0 1 2 3 4 5
fx)_2 0 5 1 3 4 ()= L) S
olx) 1 2 4 0 5 3 7o f

mx 0 5 3 2 4 |

n(x) 3 2 9 / X 7

6. Find a formula for g(f{x)) when f{x) = 1/x and g(x) = XZ\ZJC—IR
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9. Find a simplified formula for the following functions. Let f{x) =X + 2, g(x) =x’, and
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10.Are the following functions power functions? If so, write them in the form y = kx’.

a. y~—4=(x+2)(x—2)
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b. y=(x-3) o

11.Find a power function through the point (1, 4) and (4, 7).
yopx" Y A=EIT-E k=4
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12.Without a calculator, graph fix) = 5(x - 4) (x* — 25). Label all x and y—intercepts
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13.Find the zeros of the function y = x*— 2x — 8x.
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14. For the following polynomials, state the degree, the number of terms, and describe
the long—run behavior.

a. y=1-2x"+%’ as¥—2fa, y—=-w
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15.Find a possible formula for a polynomial f with the following properties: f is third
degree with fi=3) =0, (1) =0, 4) =0, and A2) = 5.
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16.Find the horizontal asymptote, if it exists of
A g) =1 =x)2+3x) - 3X ,:,,_3,
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17.An alcohol solution consists of 5 gallons of pure water and x gallons of alcohol, x > 0.
Let f{x) be the ratio of the volume of alcohol to the total volume of liquid. (Note that
fix) is the concentration of the alcohol in the solution).

a. Find a possible formula for f{x).

frg - Aot of Alecho] X
Amsunt of Liguid Xt5
b. Evaluate and interpret f{7) in the context of the mixture.
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c. What is the zero of £ Interpret your result in the context of the mixture. -
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d. Find an equation for the horizontal asymptote of f. Explain its significance in
the context of the mixture. .
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18.What are the ).c—intercepts, y-intercepts, and horizontal and vertical asymptotes af
any?
Y X=4, Y=o = ‘X”Tﬂtﬁ/Y'C\“J]D‘}‘ is (4,0)
(x*-9) N=0, 4= 4/ = ‘j,~thWf/l3+ 18 (9, 4/5’77
X = ‘}") o = Y=013 +he h&ﬂgmw-HJ &S}?"F‘TM&S_
%~ ? 0 D X=183 = A=13 ove the verticed &vs-igﬁﬂpﬂr&*% ,

19.Graph the function

Y
: pooiotoxe12 _ 2 (X-sxtd) _ 2(x=3)(%x-2)
, (x-4)0%t4) (k-4 xt4)
_m_m_'___& 4 — — - Y- Tnﬁﬁ“(ﬁ%'b*‘rg: (3.‘9),(2'0>
; o K :4 . t}»?wﬁr{ﬂo S - [0,’3/4)
‘lf: /{ , g; §7Ql‘ i l’ ﬂ hOY}%wn-fﬁL( M*& ‘3:2
| S bl ey s el g
20.Thefollowingisa'transc‘lationofy=.1.{{nqulg' o v e ﬂ‘g‘;’:;; sofer =
' i
2

T f =k shified daw

______ >
) 3 wnis

a. Find a possible formula for the graph.
49 _ -3
jr = 3= Y=

b. Write the formula from part (a) as the ratio of two linear polynomials.
{ « 3x -3 -3+t |

h=5-3=%"% = "% ° %
c. Find the coordinates of the intercepts of the graph. MAEO SO Mo - e
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